[d° sum p_/dndeGeV]

Ratio to ATLAS

7000 GeV pp Underlying Event
T T T T N I R B

Z(pT) vs ' (|n| < 2.5, p.>0.1GeV)

25 I [ | ATLAS o
— --O-- Herwig 7.2.1 default B
| —&— Pythia 8.308 default

e ¢ Sherpa 2.2.9 default _

B YRS ono’ L L L
[964%gpbadattyy et i hetdtess LT T ]
05— | ]

mcplots.cern.ch [arXiv:1306.3436]

p)

[EEY

IR AT T YRR TS A X 2L 4 S TS S N -0 AW
0.5 [Ph447 aettatg 1 279700 AR LA AT2

0 1 2
In| (leading track)

= X T g .

Rivet 3.1.10, = 3.5M events

N



	Contents
	Page 1


